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 Autograph Activity

Addition (and subtraction) of Vectors on Autograph
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 Open new graph page Standard Level.  [image: image3.png]


 Equal Aspect is set be default!
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 Edit Axes so that x is from -15 to 15 and y is from -10 to 10
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 Also use ‘Edit Axes’ to ensure that the ‘pips’ on both axes are set to 1
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 Add three points at:

 (10 , 5), (10 , 3) and (10 , 1)
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 Select the point at (10 , 5)

Right click to Add Vector 
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 Select the point at  (10 , 3)
Right click to Add Vector 
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 Select the point at (10 , 1)

Right click to Add Vector 
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Autograph page showing vectors a, b and c
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 Add a point at (-10 , -5)
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 Select this point and the vector b then right click and ‘Copy Vector’
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 Select the point at the end of the ‘copy vector’ just added and vector c then right click and choose ‘Multiply Vector’ changing the ‘Factor’ to 3
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 Select these three objects: the point (-10 , -5), the copy vector b and the Multiply Vector 3c then right click to ‘Add Vectors’



[image: image19.wmf] Work out (on paper) the following vectors then use a similar approach to the above to show them on Autograph (check these agree with your working)
(i) 3c + a
(ii) 2b – a
(iii) c – 2b
(iv) a + c – b
  (v) ½(c – a)[image: image20.bmp][image: image21.bmp][image: image22.bmp][image: image23.png]
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